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Day 2: Factoring to Solve a Quadratic
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Zeros vs x-intercepts
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Finding the zeros or x-intercepts of a quadratic function from Factored Form.

2) x-intercepts: 6“'-?"‘- Csoord. Point-
(-5,00% (2,5)

3) Remember the zero product property: if ab =0 then a=0, b =0 or both @ and b are 0.

This means that x ~2)=0then x + 5=0and/or x + 2 =0,

In order to use factoring to solve and graph your quadratic we do the following:
a) Change y to y=0.
*When solving for zeros or x-intercepts, v =0.
b) Factor the quadratic equation.
¢) Solve for x.
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Find the zeros of each quadratic function by factoring.
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Find the x-intercepts from Factored Form.

22) y= {x+ 6)[.\' + 4} 23) y= {,1? +TNx-1)

(-6, 0) el (.9 0)ad (10)

25) yv=(x+2)5x +3)
5
- z o

24) y= (rrﬂ){S\ _3_)

SOV %

Find the x-intercepts by factoring. GZ O) % (-% \OB
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